
SAP ABAP table /BA1/TF4_SCS_VOL {Volatility Shifts}

_BA1_TF4_SCS_VOL

MANDT [CLNT (3)]

MDCODE [CHAR (4)]

SCENARIO [CHAR (10)]

VOL_MDCATG [CHAR (4)]

VOL_TYPE [CHAR (4)]

_BA1_TF4_SCEN

MANDT [CLNT (3)]

MDCODE [CHAR (4)]

SCENARIO [CHAR (10)]

 /BA1/TF4_SCS_VOL-MDCODE = /BA1/TF4_SCEN-MDCODE 
0..N

1  /BA1/TF4_SCS_VOL-SCENARIO = /BA1/TF4_SCEN-SCENARIO 0..N

1

_BA1_TF4_VTYP

MANDT [CLNT (3)]

MDCODE [CHAR (4)]

VOL_TYPE [CHAR (4)]

 /BA1/TF4_SCS_VOL-VOL_TYPE = /BA1/TF4_VTYP-VOL_TYPE 

0..N

1


